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In right AABC, the hypotenuse is 20 units and one of the angles measures 309,
The area of the triangle in square units is

(a) 200 V3
(b) 200
(c}) 100 /3
{(d) 100
(e) 50 V3

In a group of 200 college students, 138 are enrolled in a course in psychology,
115 are enrolled in sociology, and 91 are enrolled in both courses. How many
of these students are not enrolled in either course?

(a) 0

(b) 38
(c} 53
(d) 62
(e) 85

Find the value of x which satisfies the eauation, 10g279 = X.

(a) 2/3
(b) -1
(c) &/3
(d) 3
(e) 3/2

The algebraic expression 3x% - 1)7E(x + 1) + (x2 - 1)™% is equivalent to

(@) 3+ 1)+ (x2 - 1)%

3(x2 - 1)%
(x + 1)(x + 2)
(d) o -1
3x + 4
(e) RETL
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5. For the rectangle shown, AB is parallel to YA

— 1.4
the x-axis and BC is parallel to the y-axis. Al ) B
The area of the rectangle is
(a) 18 sq. units D C (6,1)
(b) 15 sq. units >x
(c) 12 sq. units
(d) 10 sg. units
(e) none of the above
6. When simplified, the expression (1/a) + (1/b) is equal to

(1/a%) - (1/b2)

(a) a+b
(b) a-b
(e) 3 ibb
(d) -2
(e) b éba

7. A set of three positive integers, x, y, z, is called a Primitive Pythagorean
Triple provided X2 + y2 = 72 and provided x, v, z have no common integral factors
greater than 1. Which of the following is not a Primitive Pythagorean Triple?

(a) 3,4,5
(b) 5, 12, 13
(c} 20, 21, 29
(d) 35, 84, 91
(e) 45, 28, 53

8. Insert two geometric means between 6 and 48,

(a) 1272, 48
(b) 20, 34
(c) 14, 28
(dy 27, 27
(e) 12, 24
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10..

11.
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9.6 2/3

SimpTify the expression g§£f§¥§ ). Leave the result with no negative
X

Y
and no zero exponents.

3v/3 8/3

(@) =73

(]

9

<

(b)

.
=
=

Give the largest solution set of real numbers for the following inequality:
3x% + 4x + 2 > 0.

(a) all real x-values

(b) no real x-values

(c) 1x]|x =0}
) {x|:.€m5m£2:

(e) Ix|x< ;ﬁiﬁé_ﬁi or x> :ZL%?Jﬁi }

. x2 + x - 6
Evaluate: Tim N The value is
x 2 Xc-4
(a) O
(b) 5/4

(c) does not exist

(d) undefined because the numerator is zero

(e} 3/2
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Find the values of x and y so that each determinant will be equal to 3.

(x +y) is then equal to

-1 -x
s B = .
l 2 \y

lLet C be the circle with center at the origin and radius 5. The 1ine which is
tangent to C at (3, 4) intersects the x-axis and the y-axis, respectively, at
the points

(a)
(b)
(c)
(d)
(e)

(10, 0) and (0, 12)
(25/3, 0) and (0, 25/4)
(16, 0) and (0, 9)
(9, 0) and (0, 16)
(25/4, 0} and (0, 25/3)

A central angle of a circle of radius 13 inches intercepts an arc of 41 inches.
The measure of the central angle in degrees to the nearest tenth of a degree is

(a)
(b)
(c)
(d)
(e)

e

18.2
3.2
180.7

41.0

180
Fig

The equation of the perpendicular bisector of the 1ine segment PQ from point
P(~3, 5} to point Q(1, -4) is

4x - 9y - 40 = O
Ox +4y + 7 =0
8x - 18y + 17 = 0
y = g

X = -1
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X -2
x + 1

16. The domain of the function f(x) = in interval notation is

) X € (~=, 1TV [2, =)
) x ¢ [-1, 2]

) x€[2, «)

) X € (~», -1} U [2, =)
) ox € (-, 1) U (-1, =)

17. The measure in radians of all angles between -360° and 360° for which sec & = 2,

is

=117 - id M
@) == 5 %
(b) =57, 4w o« 27

3 3 3 3

-1l -7 x 57
(C) —6—! 6 L g& _6
dy =%, -m n 57
(4) 37 73" 3 73

(e) -300°, -60°, 60°, 3000

18. When simplified, csc 2t + cot 2t (where defined) equals

(a) tan t

(b) sec t

(c) csc? ¢

(d) cot t

(e) 2csct+ 2 cott

19. Determine all x such that X = g < 1.

(a) x >3
{(b) 2 <x <3
(¢c) 2sx=<3
(d) x = 3
(e) x=<3
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21.
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In the semi-circle with center at 0, the D
length of AB §s a and the Tength of BC

is b. BD is perpendicular to AC. The

arithmetic mean and the geometric mean

of a and b are, respectively, A 0 B ¢

(a) OC and OB
(b) OD and BD

{c) AD and DC
(d) AD and BD
{e) 0D and BC

If f and g are functions such that g{x) = eX and f(g(x)) = x, then f(x) equals

{a) e*

(b) 1oge X
(c) log, e
(d) xeX
(e} x/eX

The solution set for the inequality xZ2 - 3x - 4 >0 is

(a) {x]-1< x < 4}

(b) {x|x <-1or x> 4}
{c) {x|x < 4}

(d) {x[x < -1 o0r x < 4}
(e) {x x < -1}

Give the complete solution set for o if tan o = 1.

(a) {%T+ k7, where k is any integer}

(b) {gf+ 2k , where k is any integer}
(c) {£T+ km or-gg + k7, where k is any integer}

57 9y 137
i} LA o, == ..
(d) {4‘—3 43 4: 4 ’ }

(e) {# 'W,i_s_a_’_;_gﬁ i_]'_3_7r sev}
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If sec o = 5/4, ¢csc B = 2/V3, 0< o €72, 0 €8 <72, then cos (a - B) is
equal to

(a)
(b)
(c)
(d)
(e)

3+ 473
10

373

25

4 + 3/3
10

3 - 4Y3
0

4 - 3/3
0

If log, bl = c2, b>0, c¢c# 0, then 1ogba is equal to

(a)
(b)
(c)
(d)
(e)

Find all values for x that satisfy the equation sec

2/c?
2¢2
c/2
2
/c

2y + tanx = 1 in the

interval 0 < x £ 27.

(e)

(.

7, 37

2 2
0, 7, 27
0, 27

all values of x 1in the interval

/i
X ., :
- 1) x%, then f(x) 1is
2
X (d) ST S
1+ x (1 - x)2
1 f X (e) x2
x2
(1 + x)2
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28. The solution set for the following system of equations
i(x sin o +y cos a=3
is
X €cos o -~y sina =4
(a) X2 + y2 = 25
(b) %2 - y2 = 25
(c) (x+y)¥?=0
(d) (x-y)¥e=0
(e) (x +y)% =25
29. The Timit of the sum, ;%—+ Eg—+ ;g-+ SRR ng as n -~ o is
(a) 2
(b) 1/2
(c) 1
(d) ©
(e)
30. When simplified, the expression e_TOQJexz is equal to
(a) x2
(b) 2.718
() =
(4) &
(e) -1
31. The complete solution set of l%—i}%?i 4 s

_500
=2, )
1

(a) L
|

—A 3

2

(b) [
-1

(e)

1
2

5 11

B

hone of the above
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The point on the circle 4x2 + 4y2 - 8% = 1 which is nearest to the point (2, 2} is

(a) (3/2, 1)
(b) (3/2, -1)
(c) (172, -1)
(d} (1/2, 1)
(e) (1, 0)

The sum of the coefficients in the expansion of (x - 2y)7 is

(a) -1
{(b) +1
{c} +7
(d) -27
(e) -37

A man is in a boat 6 miles out in the water from the nearest point on a straight
shore, point A, and he wishes to reach a point B that is 12 miles up the shore
from point A. He can row at 4 mph and walk at 5 mph. If he rows straight to a
point C on the shore that is x miles from point A and then walks the rest of the
way, it will take t hours. Then t, expressed in terms of x is

(a) afx2 + 36 + 5(12 - x)

(b) Vx2 1 e . 12 g X
2
(c) X2 +36 , 12 -X
4 5
X 12 - X
7t =
27
(e) 10

What relation exists between the area A of a triangle with sides of Tength 13, 13,
and 10 units and the area B of a triangle with sides of lengths 13, 13, and 24

ynits?

(a) A< B (d) The relation cannot be determined
from the given information.

(e) It is impossible to construct such
(¢c) A=B8B triangles.

10
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When simplified to lowest terms, the value of the expression {2/3 + 5/7)8 +
(2/3 - 5/7)8 is

(a)
(b)
(c)
(d)

)

——

e

(e)

The

an even integer

an odd integer

a rational number but not an integer
a negative irrational number

a positive irrational number

product (cos a){cos 2a){cos 4a){cos 8a) ... {cos 2”"1a) equals

cos 2Ma

cos 2Ma
sin a

sin 2Ny
20sin a
cos 2Ma
2cos a

none of the above

smallest positive integer with exactiy 28 different positive integer

divisors is

a

(a)
(b)
(c)
(d)
(e)

28!
28

242
vz
1

1/2

11
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40. The equation x3 + ax? + (10 + 20i)x + b = 0 has roots 3 + i and 3 - i, The
third root is

(a) 10/3
(b) 5

(c) b1

(d) 101

(e) (10/3)1

12



